
FITTING MANUAL 
Product Name : Front Bumper ( V.2 ) 
PART NO : OP - 197 
Car Model: TOYOTA REVO (2014 – ON) 
 

 

        

 

 

 

 

 

 

 

 

 

 

 

 
 



PART LISTS 
Product Name: Front Bumper ( V.2 )  
Car Model: TOYOTA REVO (2014 – ON) 

 

 

 

 

 

 

CENTER PART, 1 SET 

 

 

 

 

 

UNDER SIDE PART,1SET(R+L) 

 

 

 

 

 

PART,1SET 

 

 

 

 

 

SUPPORT,1SET(R+L) 

 

 

 

 

 

SUPPORT,1SET(R+L) 

 

 

 

 

 
SUPPORT 2 SET 

 

 

 

 

 

COVER,1SET(R+L) 

 

 

 

 

 

COVER,1SET(R+L) 

 

 

 

 

 

LED LIGHT,1SET(2 Pcs.) 
 

 

 

 

COVER,1SET(R+L) 

  

1 3 

4 5 6 

7 8 9 

2 

Page : 1/3 

10

00 



 FITING INSTRUCTION 

Product Name: Front Bumper ( V.2 ) 

Car Model: TOYOTA REVO (2014 – ON) 

FRONT - VIEW 

  

   

REAR – VIEW 

 

1 

9 

8

 

5 

3 
2 

4 

7 

10 
6 

Page : 3/3 



PART LISTS 
Product Name: Front Bumper ( V.2 ) 

Car Model: TOYOTA REVO (2014 – ON) 

 PICTURE NAME QTY UNIT NOTE 

1  HCS M6x1.0x20 42 Pcs.  

2  BOLT M10x1.25x30 14 Pcs.  

3  BOLT M12x1.25x100 2 Pcs.  

4  WS M6 42 Pcs.  

5  WS M10 28 Pcs.  

6  WS M12 4 Pcs.  

7  SW M10 14 Pcs.  

8  HEX NUT M12 x1.25 2 Pcs.  

9  CAGE NUT M6 20 Pcs.  

10  FLANG NUT M6 22 Pcs.  

11  FLANG NUT M10 14 Pcs.  

 

 

 

 
Page : 2/3 



 

PART   LIST 
 

PRODUCR NAME : FRONT BUMPER 

SUITE TO VEHICLE : TOYOTA REVO (2014 – ON) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

**** This item for you 2 pieces ( left and right) 

- if your steering wheel is the left. 

your can use the left Bracket. 

- if your steering wheel is the right  

your can use the right Bracket.  

 

SUPPORT, 1 SET(R+L) 


